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[> restart:
> Leibnitz := Sum((-1)"k/(2*k + 1), k

li

> Log := Sum(-(-x)*k/k, k = 1..n);

[> Sin = Sum((-1)"k * x~(2*k+1) / (2*k

n
Jim z
n— o

Sin =

> Limit(Sin, n = infinity) = limit(Sin,

Blatt 3

=0..n);

n _1 k
Leibnitz = > 1)

k=o2k+1

> Limit(Leibnitz, n = infinity) = limit(Leibnitz, n = infinity);
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n k
Log= ), .
i k=1 k
> Limit(Log, n = infinity) = limit(Log, n = infinity);
n
k
: (-X)
nhngk;- o =1 +x)

+1)| k =0..n);
z (—1)k2k1
“o (2k+1)!

n =infinity);
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:> restart: with(plots):
> spacecurve([t*snn(t) t cos(t),t],t=0.
orientation [ 50, )

Qrkel)y Sy

.8*Pi, numpoints = 500, color = blue, axes = none,

(1.1)

(1.2)

(1.3)

(1.4)

(1.5)

(1.6)



=> T:=(s,t) -> [ (2 + cos(t)) * cos(s),(2 + cos(t)) * sin(s), sin(t)];

T= (s 1t) — [(2+cos(l))cos(s), (2+cos(t))sin(s), sin(t)] (2.1)
=> pl := plot3d(T(s, t), s = 0..2*Pi,t = 0..2*Pi, color = [0, 0.5, 0]);
pl = PLOT3D(...) (2.2)
=> p2 := spacecurve(T(s, 10*s), s = 0..2*Pi,thickness=4,numpoints=600, color = gold);
p2:= PLOT3D(...) (2.3)

> display([ pl, p2 ], scaling = constrained, orientation = [ 0, 55, 13 ]);
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[> restart:
L> with(plots):
>u = (x, t) -> exp(-(x-t)"2) + exp(-(x+t/2)"2);

(x-f—t)z
“x—p2  \*T3
u=(x 1) —e X" te .

> animate(plot, [ u(x, t), x=-8..8, thickness=3 ], t = 0..10, frames = 50);

(3.1)
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[> restart:
L> with(plots):
F := (x,y)->sin(x);

F:= (x, y) — sin(x)

}?tubeplot
>tubeplot({ [cos(t), sin(t), O], [ 1/sqrt(2) * sin(t),
.4*Pi, radius = 0.1, scallng—constralned color = F

)1+1/sqrt(2) * sin(t),

cos(t) 1}, t=

(4.1)






